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Time : 2 Hours Total Marks : 120

Note : Before answering the questions, read carefully the instructions given on the OMR sheet.

BEon aTvoos PRk Bwoiy OMR ames SERs’ gowdd Srstess @B uested.

SECTION—I : MATHEMATICS (5c38 3730)

1. Ifx=\/3+,/3+ﬂ/3+---oo then
Ifx=\/3+ 3131 0 o

(1) x2-x+3=0 2) x> +x+3=0

3) x2-x-3=0 4) x2+x-3=0

2'0 10g10 125 + ].Oglo 8 =
(1) 1 2) 2 3) 3 (4) None (28 )

3. The relation a(b + ¢) = ab + ac is

alb + g = ab + ac D Bod TWIE' D IWRPY BPDYeS?

(1) commutative law (2) associative law
BBY o SRV GG

{3) distributive law , (4) None
QeI PO D8 e

4. If n is a natural number, then 8" - 3" is always divisible by

n D8I X S Sogg @059 8™ — 3™ JPMHPES ureereerisrissinns 3 PRoDetIRD.
{1y 3 (2) S 3) 8 4y 11
5. IfJ_+——31 then x =
Jx

58
Jx + 22 =31, eowd x =

Jx
(1) 529 (2) 933 (3) 729 (4) 841
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6. If A and B are two sets then (A- BN (B- A)=

A %8050 B oo Dok 3208583 (A- B n(B-A) =
(1) A (@) B 8) AAB @) o

7. The following Venn-diagram design represented by C equals

RIS ped’ C = o)
(1 {1, 2,5, 6 {2) {6, 5, 4
B) 4,56, 7} 4) {2, 5, 6}
8. The shaded area in the figure is
A B

C
308 HE aweds Sevoe
(1) An(Bu(Q) (2) An(BNO)
B Au(BnQC) 4) Au(BuQ)

9. The remainder of 3x3 - 2x2 + x + 2 when divided by 3x +1is

3x3 - 2x% + x + 2% 3x + 13 grRoum sy e

4 3
1) 3 @ 7 @ -

WP

(4) None (98 )

10. If o, B are the roots of 5x2 + 5x + 6 = 0, then (1+ o) (1+B) =

5x2 + 5x + 6 = 0 ooy, 3Pewo o, P v wonss (1+a) (1+p) =

4 3 6
1 < @ < B < 4) -

wnlo

11. If the difference of two numbers is 5 and their product is 84, then the numbers are

Totis Nogme PEo 5 $odcin oo 84 w0 & Sopgew
(1) 14, 6 @) 12,7 3) 21, 4 @) 14,9
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12, If the perimeter of a rectangular room is 34 and the length of the diagonal is 13, then the
dimensions of the room are

8 DBoURE 1O BxpSod 34 H0ci» Ko MY 13 e e 1B Fodeo
(1) 7,6 2) 11,6 @) 12,5 4 12,6

13. If 9x + 11y =51 and 11x + 9y =49, then x =
O9x + 11y =51 %8ck0 11lx + 9y =49 wood x = ?

1 -1 (2) -2 3 1 4) 2
14. If the pair of equations a@;x + b,y + ¢, = 0and ayx + by y + ¢ = 0 has unique solution, then

ayx + by + ¢ =0 38030 agX + byy + ¢y = 0 Sosere bl JBY M5 ol

(1) o _b 2) a b
a; by a; by

b C C

@ et @ L=
2 C2 by, ¢

15. The graph of y+ x2 =0 lies in the quadrants

y+x2 =0 QY ™Y 9 D6t Yowed?
1) &, Q2 (2) 02,03 (3) Q3,04 4) 04, Q
16. The line x =2017 is

x =2017 8
(1) Slope not defined (2) parallel to y-axis
TR MWgso I Y-oPR8 SDFBo
(3) 1and?2 (4) None
1 $o8ai» 2 8 o
17. \/6+,/6+,/6+---oo =
]
1y 1 2 2 3 3 4 4
18. Ifx+l=2, then x2 +—1—=
X x2
x+l=2, o x2 +L=
x x2
(1) o 2) 2 3 4 4 8

19. The discriminant of the quadratic equation ax? +bx+c=0is

Sesbosteo ax? + bx +c = 0 GoY, NS = _ |
(1) b2 -4ac (2) a? -4be (3) ¢2 -4ab (4) None (D& )
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o
S i o B
20. 11 o & zve the roots of x“ +2x + 5= 0 then Tt
o - i7
2 - A - o b
o, Pos x4 e S 0K, WrCDE A

Ui+

6 .4 N 4)
(Y < (2} z {3} {

21. Which i1s the three dipst

22. The 6th term in the GF 208 22 ... s

i
—
[ ]
3
(=3
[
oy
w
\®]
c
D
X
=
]
N
o)

23 1+ 14 14 0 merms =

1+ i+n oo =

L.on 3 Sl o+l
T 2 8 n e
2 2 Z

Z4 T4 3+ 6+ 10+- n terine =

T+ 345+ 10+ -7 i =
mjre + e+ 2) oonlirr Bn -2
() ——— 525 PO

22 5
nire + 1jin + 2 A ep
3y LT -9 (4) None (23 =g
5

25. 1 k.2 hes m J1 quadrant ther -k, - 2) lies in the quadrarit

§

y v £ Do ot JRVIN K%
(K, 25 2ol ool el -k -2y Sned’ el

(1 2) 1 (3) 1l (45 1V

26. The pome of intersection of the lines 2x + 3y~-5=0 and 3x-4y+ 1=0 lies in which

quadrant?
2x + 3y~ S=0%bmw 3x ~dy+ 1= Do 2ol Dol o Fuest wewaedy

(1 1 (2 11 (3) 1 [4) IV

2017-S2/2-A 4



27. (0, 0), (1, 0), (O, —4) are the vertices of a triangle.

Sgeo (0, 0), (1, 0), (0, —4) & D ©@gomo

(1) equilateral (2) isosceles
RR0E0 SR

(3) right-angled isosceles (4) right-angled
BSLlalagoLl wons’es vonsies

28. If (8, 1), (k, —-4), (2 - 5) are collinear, then k =
8, 1), (k, —4), 2 - 5) oo 3578 k =
(1 2) 2 3) 3 “4) 4

29. If the slope of the line through (2, - 7) and (x, 5) is 3 then x =
(2, - 7) 520040 (x, 5) oo Al Sp Dok, Ted 3 W X =

H 4 (@) S 3) 6 “4) 7

30. The distance between the points (cos8, sin6) and (-sin#, cos6) is
Dokopew (cosh, sinB) $s0ckin (—sin b, cosb) o o St

1y 1 (2) V2 (3) 2 (4) V3

31. The number of elements in a triangle is
©Dees’D Sarose Segs

(1) 3 (2) 4 3) 6 @) 5

32. In the figure
Seos® A

B C
if MN||BC, AN =3, NC=18, MB=24, then AM =
MN || BC, AN =3, NC=18, MB =24 oo AM =

(1) 2 (2 4 3) 6 4) 8
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33. If two triangles have the same base and area then they lies between

28 400 BoOCHH PTES BITWOM Sy, Toths (Dgbeames B+ (Bod TIE® T3 WS Youran

(1) parallel lines (2) two straight lines
SRTOBE T ' Bt $58 Spen

(3) perpendicular lines (4) intersecting lines
oow Sy PoED Spew

34. A 15 m tall boy casts 2 m shadow. At the same instance, a lamppost casts a shadow of 10 m.

Then the height of the lamppost is

1'5 m 80 ffo o8 oot 2 m DEP o &N M5H0H o Steanos® 10 m R Ko dEse D5noD Mo
5;5?302::: J20B?

(1) 65 m (2) 75 m 3) 85 m (4) None (28 =)
35. In the figure, x =
A
55°
X
-80°
B
C
awoé‘s X =
A
55°
x
80°
B C
(1) 45° (2) 135° (3) 90° 4) 15°
36. In the figure, x = c
A B
Seed® x =
(1) 100° (2) 90° (3) 110° (4) 80°
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37. In the adjacent figure, x =

7 cm D
5cm AN_Xx_/B
%, seest x =
{1} 58 cm (2) 68 cm (3) 48 cm (4) 38 cm

38. The length of the minute hand of a clock is 21 cm. The area swept by the minute hand in
20 minutes is

recursed®a Do Bwey &P 21 cm. 20 et He Bovy SOAD (Dod PTeH

(1) 462 cm? (2) 362 cm? (3) 562cm? (4) None (28 o)

39. A secant intersects the circle at point(s).

25D Sp TR I Dotsope &8 podised

{1) single (2) two {3) three (4} None

2583 Boks REGTO) D8 >0

40. How many tangents can be drawn to a circle from a point outside the circle?

2 ering Dotoy Wod IS Adisre Hudre Sea

(1 1 2 2 3) 3 (4) None (28 o)

41. If a sphere, a cylinder and a cone have the same radius and same height, then the ratio of
their curved surface areas is

Rioo, MPse Sdain Togopes &8 TIe Br0cis Iy SBA Pod T3 HFBe T Ayd

(1) 2:4/3:4 (2) 4:4:45 (3) 3:45 :4 (4) None (28 =)
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42. The volume of the cone =

BO0R dl:o§b 0300 =

. 1
) a2 @) Lnrh (3) nr2h @) 1nr2n
3 3 2
43. If the diagonal of a cube is 443, then the side of the cube is
RIS Glo, Se 44/3 wowts o gome
(1 (2) 2 3) 3 (4) 4
44. If the volume of a hemisphere is 19404 cm?® then its radius is
e.agfféo SO0, PoRRdiree 19404 cem® wowss o0 sisb“go
(1) 7 2) 14 (3} 21 (4) 28
45. If x = cosB +sinb and y=cosh - sin®, then x° + y2 =
x = cosb + sinh ©o8ain y = cosh - sind waass x2 + y2 =
(1) 0 @2 1 3) -1 @) 2
46. sin{A+ Bjcos(A- B +sin{A- Bcos(A+ B =
(1) sin2A (2) sin2B (3) cos2A (4) cos2B

SPACE FOR ROUGH WORK ; W&gdad Feraoonnds RICIEL
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47. If sin(A+ B = — and cos (A - B = —, then £ZB=
(A+ B 7 (A-B 7
. 1 1
sin{A+ B = — 0005 cos (A - B} = — wod LB=
(A+B NG (A- B 7
(1) 60° (2) 45° (3) 30° @) 0°
48, If sin® + cos® = /2 then 0 =
sin® + cosB = /2 w0 6 =
(1) ©0° ) 30° 3) 45° 4) 60°
49° 1- tan2 300 -
1+ tan? 30°
1 1 J3
1) = 2) — 3) — 4) 1
(1) 2 (2) 7 3) 2 4 1
50. cos* 0 -sin? 0 =
(1) cos?8-sin?8 (2) 2cos?6-1 (3) 1-28in%6 (4) None (D& w)

51.

The angle of elevation of the top of the cliff from a point 300 m from its foot is 60°. Then the
height of the cliff is

28 S0 el gPe wod 300 m B B0l St B gPNoR0 60° & Sraed LIS Fets ey

(1) 20043 2) 2% (3) 3003 (4)

300
7 =

7

SPACE FOR ROUGH WORK / Q808 Surosootiendd $osw
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52. The angle of elevations of the top of a tower from the top and foot of a pole of height 10 m are
30° and 60°. Then the height of the tower is

10 m a8 e Jogio B gio $o0cin Giolb e Mol wibd 3% &5 Seros 30° W00k 60° wund e
) 28y 009

(1) 5m (2) 10 m (3) 15 m 4) 20 m

53. The set of all possible events is called

SEEIES PO BAOD ererorenrinns LIOLTE.

(1) event (2) impossible event
o G e

(3) sample space (4) None
eSUe Boe 08 =

54. From a deck of 52 cards, a card is drawn at random, then the probability of getting a red king
is

52 e Ho e DY N Wod Moy Tre oot Sogrig®

1 2 3
1 2 3 )
y 26 (2) 3 (3) 6 (4) None (20 o)
4 _
55. If P(A) = — then P(A) =
15
FiA) = A woxd P(A) =
15
19 11 13 “A w

56. The probability of getting 53 Fridays in a Leap year is
25 8y Setwest 53 wEToes oo RSogrsg DoB?

1

(1) @) % @)

~ W

(4)

STES

SPACE FOR ROUGH WORK / 28508 Zerooneds PR
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57. The width of the class in the distribution having class intervals 1-20, 21-40, 41-60 is

1-20, 21-40, 41-60 851 wobtres SORS Jgres SQEE® BoNS ey Jov?

(1) 19 (2) 195 (3) 20 4) 205
58. The arithmetic mean of the following data is
B+ Bod Soroiio Gk, wo¥ Bogghe
Class Interval 0-10 10-20 20-30
SRS wedbe
Frequency 5 14 6
3’26:@2639
(1) 184 (2) 194 (3) 124 4) 154
'59. If mean = 44 and median = 42, then mode =
wOSGE00 = 44 500Ky Bogglide = 42 e000d irudte =
(1) 34 (2) 36 (3) 38 (4) 40
60. Which of the following is more consistent?
s $od T3E° DO D Jedawe?
(1) AM (2) Median (3) Mode (4) None
©O¥ Bokeice Soggro TOSEe 28 T

SPACE FOR ROUGH WORK / 2408 Beronoonndn PR
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SECTION—II : PHYSICS (505 7%0)

61. A light ray incidents on a plane mirror at an angle 33°. Then what is the angle of reflection?

&5 500 3urasa 33° Seased wuose SN0 SBEIRN, STHYIe Do Tod sewsw S -

(1) 66° () 33° (3) 22° (4) 11°

62. Which of the following is used by the dentists?

B4 (300 THIE® 0B PR SHAPAGHD

{1} Convex lens {2) Concave lens
205730 ¥eso DTS BeoSo

(3} Convex mirror (4) Concave mirror
oo SOenew ‘ ‘ DTS LR

63. Which of the following is true in case of virtual image?

Dogrg SDow AeWes® s God THIS' DO ¥eEa?

{1} Always erect (2) Always inverted
QYRPET VLN Qgypir Bodedeor

(3) Obtained on screen (4) None of the above
BB Be08 99 08

64. An object placed at a distance of 30 cm in front of a concave mirror of focal length 20 ¢m. The
image is formed at a distance of

20 200.2. THOBO Ho HPTO Srasn $woid 30 0.0, Brtest St dods, hodow SIS :

{1) 60 cm {2) -60cm (3) 30 cm (4) -30 cm
60 e.o. -60 o.20. 30 e.o. -30 o.o.
65. Every lens has focal points.

B HeamR8 S0l BT TEoe Sopg

(1) ome (2} two (3) three (4) infinite
=05) Totl BT Wdodo

SPACE FOR ROUGH WORK / D8 Serosotindy puwns
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66.

67.

68.

69.

70.

The radii curvatures of a double convex lens are 10 cm and 10 cm. Its refractive index is 1-5.
The focal length is

&8 SgioogE Neslloo Qo) wETr mbb"c;w 10 e.fo. Sotasn 10 oo, o0 s ek 15 e
Beolow Gk, Tl

(1) 10cm 21 Olcm (3) 001 cm {4) zero

10 o2, 0-1 o.20. 0-01 o.20. E oty

An object is placed 10 cm from a converging lens of focal length 10 cm. The image is formed
at a distance of

10 e.20. TEROBTS Ny 8. Foi@s50e Yossw wod 10 Bo.d. ErEund® o VP EolD NHE BODew
LTS

(1) 10 cm 2) 2
10 e.o.

e}
8

{3) 100 cm (4) oo
100 0.0, oo

N

o O
¥

Q

£7’

A convex lens is placed in water. The focal length will

25 BoPTU 5uTy JdE Soli et G, Ei-olenty

(1) remain same (2) decrease
pshiielat) Sobool

(3) increase (4} None of the above
ettt Vctal :.333 T

A light ray incident on curved surface travelling from rarer medium to denser medium bends
the normal.
DEBCTP SO TSIV LUV AATNTO W0od JoEBY ArHNes’Dd Hairriediini wonkestiy

e Fototood.

(1) towards {2) away from (3) parallel to (4} None

Sism &3S SaroBsom 08 T

Which part of human eye is called ‘variable aperture?
SRR 550,87 B0 “Ae00[@0B mEE” wotrtis?

{1) Retina (2) Cornea (3) Pupil (4) Lens
S speNovey ER0 BeoBSoo

SPACE FOR ROUGH WORK / Q85903 Ferosorieds SoBw
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71. In case of eye defect called ‘myopia’ image forms

SRR G EREenE® Bolonitn Ny FEuEw

{1) after retina 12} before retina
33T endd ries’ T sesalo wrried®
(3) on retina (4} None of the above
el o 20 Ty

72. In prism experiment, the i-d curve looks like

a8 Syl BRFred® i-d Do D L& aoewod

(1) straight line (2) circle
R PSR

(3) parabola (4} ellipse
Forlertt) By mponw

73. The splitting of white light into different colours is called

Bod Tl WPy Yorbeor JEFShL B LOLT.

(1) dispersion (2} scattering
T HTTHENG

{3) refraction (4) reflection
Sdgso BT

74. Which of the following molecules in atmosphere are responsible for blue colour of sky?
TOHEeISTY e 1300 D woope SN wmiEe LT comd’ dowsd?

(1) Hy, Cl, (2) He, H, (3} CO, SO, (4) N,, O,

75. Light is a/an

SPo0 el
(1) longitudinal wave {2) stationary wave
SRRY § Buelic =S Boshe
Bl @
{3) electromagnetic wave {4) None of the above
LB oD BBolie 28 oo

SPACE FOR ROUGH WORK / Q8033 Ferootndn e
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76. Which of the following is true for conductor-like metals according tc¢ Lorentz-Drude theory?

500 Wbain ErE RO @EPve 6%re Bod TrTed® T $od T3S D8 $0EE?

(1) Negative ions are fixed (2) Positive ions move
2006 SAITROLY JUCTT SO S oo BEFoR

(3) Positive ions are fixed (4) None of the above
22083 LOIFRID PBSTR GoTa 08w

77. The SI unit of potential difference is

Foyond Sz qws, SI EareEe -

{1} coulomb (2) wvolt
srevold S

(3) ampere (4) None of the above
wobohl 08 s

78. In case of non-ohmic materials, the V- graph is

WL BTN Sowshed, V-I Y

A / ?
{1y 1 // @ /
= oo
V—> vV—>
T !
3 1 S ;
__ I
V— v—>

79. The resistance of conductor depends on

23 TSN ook, S8%E Do uirnd dowsod.

(1} length (2) cross sectional area
D é:o:piﬁacs DT

(3) temperature (4) Al of the above
oy 20

SPACE FOR ROUGH WORK /[ J#80303 Ferooneds Poa
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80. Two resistors are connected in

series

Be3s®

(1)

(3) series and parallel

Be3S® moday Sarester

81. Three resistors, 2 ohm, 3 ohm and R ohm are conrnected in seres to

™ 50N, Sels Wi wome o2

. Then same current flows through two resistors.

[

AP R N
ST BRIl

{21 perallel
Riuve e

{4) Nerne of the above

£,

W

if the current through the circuit is 1 ampere, then the value of #is ____ ohm.
2 28, 3 28 Webawe R L oses o fard a8ey BRE 20 V FEs o sl YLD wocked
1 esobawsd R FRirodn (R SwoN, Jwed Lo,
{1) 5 {2} 10 {31 15 (4% 25
82. Apply Kirchhoff's junction law and find iy value of the foliowing figure
200 LEHnd® SE0F mogt LOLEAY SRMAPACD 4,7 Susite Solhke -
{1} 19 A (v 5 A 37 2A Y 1A
83. Which of the following is correct regarding electricit?
DG voweRed B1 320 NG LG BeEMAY
2 2
; % . i s el -
{1 = e 2y P=-— 3y #7=i12R 4y P VIR
S .
SPACE FOR ROUGH WORK / BV BP0t e
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84. The magnetic field is called uniform if

©CITMes FBm0 Jips 50O dowved

(1) strength and direction of magnetic field are changing
LADW,00 FH weow 0T BF NHBInH»

{2) strength and directionn of magnetic field are constant
WOkl FB wetn B0 O JUeTP &R»

(3) only magnetic field strength is constant
" 5, “,
Toohw wabIed FB wot PR eyl

(4) only direction of magnetic field is constant
oo woloTmes FB OF JUom st

85. Which of the foliowing equations is correct in electromagnetism?
DB SBBFIND BowoRed T (§o8 A6 DB $oENa?

_ gBsin®

1) F=-2 2) F (3) F =quBsiné (4) F=gquBcosb

86. In which of the following electric energy is converted into mechanical energy?

51 1300 3" Do BB APOSE HET B WrLyR?

(1) Galvanometer (2} Ammeter
e Doty e

{3) Generator (4] Electric motor
2506000 D DT

SPACE FOR ROUGH WORK / Q%9308 Feroooowedd Qon0
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87. Whenever there is continuous change of magnetic flux linked with closed coil, a current is
generated in coil. This is

ONSog8° ol LHTHR0 ASOBUOT BREEP Goll & SMtoed® 2 ETirne Domssoed. ©b

(1) Lenz’s law (2) Ampere’s law
Bof Dazononm 302000 Doowns
(3) Faraday’s law (4) Ohm’s law
TEE DoTHH0 £50 DoNs

88. A conductor of length 1 m moving with velocity V perpendicular to the magnetic field of
strength 10 tesla induces an e.m.f. of 10 volt. Then V= m/s

Y et PG o KR 10 B wces o woRd cowom VP Irwns® 5003 10 Ly dsudonos
2R (20800 V= m/s

(1) 100 2) 10 3) 1 ' 4) 01

89. The peak value of alternative current is 2 ampere. The r.m.s. value of current is

ampere.
DTEBE DS [ETESS k), KOR Do 2 esobad woads r.m.s. Asod Deswd _ esobonsben.
(1 2 @ 242 B — @) =
V2 242

90. Magnetic flux density (B) =

OO oD whonr FoES (B) =

(1) Area 2) Length
Magnetic flux Magnetic flux
dTogn : e
LAIMOB HTURTN VOO WPTITED
(3) Magnetic flux @) Magnetic flux
Length Area
SOI,0B WPTIEE A OB HTHIN0
e | DT

SPACE FOR ROUGH WORK / 28303 Serosoeds PO
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91.

92.

93.

94,

95.

SECTION—III : CHEMISTRY (5a5% E“so)
Which of the following reactions is exothermic reaction?
e Bod WE° DO EERTBY W2
(1) C+0, —»CO, (2) N, +0, —2NO

(3) 2AgCl »>2Ag+Cl, (4) Zn+2HCl - ZnCl, +H,

Gram-molar volume is equal to

1150 Ired PonsErme (08 TSt B8 HHrHH0?

(1) 20 litres (2) 2-24 litres (3) 224 litres (4) 112 litres
20 &. 2:24 8. 22:4 ®, 112 8.

In the reaction Na +H,0 ->NaOH+H, T, how many moles of Na and H,O react together
to form NaOH and H,?

Na + H,0 — NaOH + H, T 56:6° Na 0050 Hy0 a2 38y8° &owrasn?

(1) 2,2 2) 2,1 ‘ 38 1,1 4 1,2

Phenolphthalein indicator gets pink colour in

2O Br0E Bo8 BE° rod SolhE Sowod

(1) HCI solution (2) NaOH solution
HCl poesss NaOH @wessos
(3) H,S0,4 solution (4) CH3COOH solution

HCI solution with Na,CO5; and NaHCO; produces

Na,COj3 %8s NaHCOz0% HCI 58 20Asmt Bod a%36* D8 Nuytood?

(1) H, gas (2) NaH (Sodium hydride)
Hy arosno NaH (¥&owo ip@&)
(3) H,oCO;4 (4) COj gas
CO2 3‘05»33)

SPACE FOR ROUGH WORK / 25323 Seroaotnds PO
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96. Milk of magnesia is

208, esh Doy esol)

(1) MgO (2) Mg(OH), (3) MgCl, (4) MgHCO3),

97. Which of the following quantum numbers describes the orientation of orbital in space around
the nucleus of atom?

Bod TIE° D Toeds Sopg (RIS BFRIe 00D D8ed?

(1) Magnetic quantum number
QOIS TUERd oy

(2) Spin quantum number
e Tooens Hog

(3) Azimuthal quantum number
Selak @ Teeds dowy

(4) - Principal quantum number
B Showas Se

08. The maximum number of electrons in n =3 main energy level given as
B Spels vopy n = 36° r0ger JoFy Yoy

(1) 8 2) 16 3) 18 @) 32

99, Modern periodic law states that the properties of elements are functions of their

eSOV LHGO B ETTHN BoTe¥e POY, TR HoUwo B0 3633 e [Socires

(1) atomic weights (2) atomic number
IR (BB JORPew Sogg

(3) electronic configurations (4) Both (2) and (3)
oS Jgse (2) %080x (3) 3O

100. Which of the following is the p-block element?
Bod 36 DB p-orS BoreNe?

(1) Ti (2) Ce (3) Ga 4) K

SPACE FOR ROUGH WORK / Q8598 Feroosoteads L0
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101. How many s-block elements and p-block elements are there in the third period of the
periodic table?

9T BEED Sors HIWES® I s-475 $0as p-PE BareTes op?

1y 2,8 (2} 8,2 (3) 4,4 4 2,6

102. Metalloids are
@Qé‘ﬁw TRt

(1) s-block elements (2) d-block elements
S48 Soresien d-75 Barewen

(3) f-block elements (4) p-block elements
S 75 Sareses P75 Sarewes

103. The ionization energy in the periodic table

eSHED BYTeY VIFOTO AN ¥

{1} decreases go down the group
ErBE® 3008 Ak 5O Bixocd

(2) increases go down the group
(HE° 3003 kb 579 worBed

(3) decreases from left to right in a period
DOAES® s> Bood 5088 BrxBoed

{4) remains same go down the group
ErRE® Huom &owood

104. Which of the following elements lose three valence electrons to get octet in its outer shell?
Bob T36° D Barese 3 Jogrius §hon B9 iy Rved’ ey dowEmEY) Forstied?

(1) Cs (2) Mg 3) O . 4) Al

105. The element with negative charge having the electronic configuration 2, 8, 8 is

308 T3E* DopdS s 2, 8, 8 FOAD maes wido &) NareNin O

(1) 0% (2) C1” (3) S2° 4) P3-

SPACE FOR ROUGH WORK / 263908 Serorotndd JoR
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106. The condition for the formation of ionic bond is

OIP0E ogio DG Bod D wcton BFUNEBEN?
(1)

elements involved should be of equal size
13 JEETe $OSTme ¥OAD SareTe oG
(2) high electropositivity of atoms

5 THIO SORS Horeres

(3) atoms should have low ionization potential

BENDH LAHIESE 3§ WoreTes 5OA YHood
(4)

elements with high electronegativity difference
BoPeTre ok D nETREES ST SOA Hoad

107. The molecule involves sp3 hybridization is

Bod Tw38* sp° o es0nesiyy SORD ey OO

!
\
(1) CH, (2) NH,4 (3) H,0 (@) All (oe0r)
108. Ionic compounds are soluble in
808 T%36° EVE® il eruyen MioEan?
(1) benzene (2) CCl, (3} kerosene (4) water
Bodd oS Do
109. Carnallite is the ore of
TEBE TR0 Bod T3S’ D Bareltm wod Sorotnnied
(1) Pb (2) Mg (3) Hg 4) Zn
110. Thermite reaction invblves reaction of metal oxide with
FouS Wog & EB0E’ N Barensand e e ¥5E° MEowron
(1) Ag (2) Fe

3) Al

(4) Hg
111. How many unpaired electrons the carbon atom possess in the ground state?

EOPod’ T Wy RiGoS® Y 2.0:30 JoFiows Souron?
(1) 2 2 3 3 4

“4) 1
SPACE FOR ROUGH WORK / ;%08 SiPosonnds Sess
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112, The bond angle in C,H, molecule is
CoH, wewd® worsslee
(1) 109°28’ (2) 120° (3) 180° (4) 107°

113. Esters are derivatives of

gben 1800 TIE® Dl EByEHwo

{1) ketones (2) alcohols
15%5es ese)Sfeoed

(3) ethers (4) carboxylic acids
Batsbew Tond05 esisres

114. The name of the structure CH;—CH=CH=CH, is

CHz—CH=CH=CH, % S0 b

(1) butene (2) buta-1,2-diene
WSS wPer-1,2-Goorn

{3) butadiene {4} 1,3-butadiene
BIEPTONTY 1, 3-nPergoars

115. Which of the following organic compounds undergoes substitution reaction?

Bod T3E® D B o BIFNe 958" Fowwod?
(<] N

(1) Alkanes (2) Alkenes
esTy o0 e;s@bmw
(3) Alkynes @) Al
=3 00 20 NerChy

116. When dilute hydrochloric acid is added to iron fillings

Beo WPET0E enPld pRontesete 3083 Do atiblbseed?

(1) hydrogen gas and iron chloride are formed
205 §BE Do, PERS Ty Dessttoed

{2) chlorine gas and iron hydronide are formed
268 PES 6 M, 68 Tronsd Jeonestood

(3) no reaction takes place

Jeroed ?.’365 - ohytat)

{4) iron salt and water are produced
D8 wHese H$BAI DY D5y

SPACE FOR ROUGH WORK / Q#0303 Fer0oonwdR PO
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117. pH scale is introduced by

pH 8 ESugs 7558

(1) Sorensen (2) Mosley
AT ESE

(3) Schrddinger (4) C. V. Raman
Ronb %, O, o8

118. Which principle states that “No two electrons of the same atom can have all the four
quantum numbers the same”?

28 SUSPrnE D Botd oy 4 TipwSs topws HATIOK SO BOALR Y D0

(1) Pauli’s (2) Aufbau
Fag) Flny

(3} Hund’s (4) Bohr’s
;’mo% ?555

119. The coordination number of Na* in NaCl is

NaCl %ot Na™ e dow

(1 3 2 4 @) 5 4) 6

120. Who proved that ‘ital force theory’ is not correct?

&i5%3 DpoBo B AWFLOIWTEO

(1) Berzelius (2) Linus Pauling
2EOALT TsS 0ch
(3) Wohler (4) Dalton
b ob
* *x %
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